k=01; a=04 P=010; change=03693; image 001: Approximate time taken: 5.42 seconds

k=01; a=04 P=009; change=01451; image 002: Approximate time taken: 1.09 seconds

k=01; a=04 P=009; change=00303; image 003: Approximate time taken: 0.32 seconds

k=01; a=04 P=009; change=00075; image 004: Approximate time taken: 0.43 seconds

k=01; a=04 P=009; change=00026; image 005: Approximate time taken: 0.25 seconds

k=01; a=04 P=009; change=00011; image 006: Approximate time taken: 0.25 seconds

k=01; a=04 P=009; change=00003; image 007: Approximate time taken: 0.25 seconds

k=01; a=04 P=009; change=00001; image 008: Approximate time taken: 0.66 seconds

k=01; a=04 P=009; change=00001; image 009: Approximate time taken: 0.25 seconds

k=01; a=04 P=009; change=00000; image 010: Approximate time taken: 0.25 seconds

k=01; a=3.500000e+000 P=009; change=00064; image 001: Approximate time taken: 0.45 seconds

k=01; a=3.500000e+000 P=009; change=00007; image 002: Approximate time taken: 0.33 seconds

k=01; a=3.500000e+000 P=009; change=00000; image 003: Approximate time taken: 0.31 seconds

k=01; a=03 P=009; change=00072; image 001: Approximate time taken: 0.27 seconds

k=01; a=03 P=009; change=00006; image 002: Approximate time taken: 0.32 seconds

k=01; a=03 P=009; change=00000; image 003: Approximate time taken: 0.33 seconds

k=00; a=05 P=009; change=01026; image 001: Approximate time taken: 1.33 seconds

k=00; a=05 P=009; change=00122; image 002: Approximate time taken: 1.45 seconds

k=00; a=05 P=009; change=00028; image 003: Approximate time taken: 1.38 seconds

k=00; a=05 P=009; change=00006; image 004: Approximate time taken: 1.36 seconds

k=00; a=05 P=009; change=00006; image 005: Approximate time taken: 1.38 seconds

k=00; a=05 P=009; change=00005; image 006: Approximate time taken: 1.34 seconds

k=00; a=05 P=009; change=00006; image 007: Approximate time taken: 1.33 seconds

k=00; a=05 P=009; change=00007; image 008: Approximate time taken: 1.32 seconds

k=00; a=05 P=009; change=00009; image 009: Approximate time taken: 1.33 seconds

k=00; a=05 P=009; change=00015; image 010: Approximate time taken: 1.31 seconds

k=00; a=05 P=009; change=00033; image 011: Approximate time taken: 1.33 seconds

k=00; a=05 P=009; change=00024; image 012: Approximate time taken: 1.41 seconds

k=00; a=05 P=009; change=00000; image 013: Approximate time taken: 1.63 seconds

